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I 2x mwn: procedure of nmn navpn
a 7y anywhere in the nry
b 755 anywhere in the N1y, to male 02103, in any form (of eating/preparation) for that day until midnight (0”n)
i w71 if n¥np is done in the Y3°n (inside), valid
1 support: nnay »a71a are lifted off in the 520 (comparable to n¥'np)
2 challenge (/7707 *3): v. 1 is interpreted as meaning that nxnp takes place where donor (1) stands — YR nary
(a) (dissent: nvnajainterprets nw as allowing n¥mp to come back to right hand if done with left)
3 answer: this is to allow entire N7y, including YRIw> Nty — (not to limit it to there)
(@) justification: X"1o that must be done in north, as nnn is called DwTp VTP like N7Y
(i) challenge: N is all burnt up (nnan »>v are eaten)
(ii) correction: we would have inferred from nxron
1. block: nroN is M 227N 5 7901
2. correction: we would have inferred from owx
a. challenge: DWR involves 07 (as do all three)
(b) rather: vv. 2-3 might have implied that n¥’np must be done in locus of nwian — SW corner - 5"np
it prr 7 if 0N were slaughtered in 93°n (!) — valid
1 source: v.4-if 7vin YR nna is sufficient, certainly inside n”X should be valid (3>»n 11 0N 590 R RY)
(a) challenge: n>na 12 1INy " used v. 5 to teach that (in case of emergency), 0’13 may eat 7"p7p in H2'n
(i) explanation: shouldn’t need verse; if eating in n”® 73N is ok, certainly inside 7»1n 5nx should be
(b) defense: in our case, he is performing worship — appropriate in his Master’s “house”
(i) but:in the case of eating, he is “serving himself” — inappropriate in his Master’s “house”
II  ’a mwn: procedure of Myn nron
a  7Ap?5m done on SE corner
i Source:v.6 - nmn=nron; just as nmn is offered on SW corner, so a (1yn) nkon is offered there
1 Source for inamon SW side: resolution of v. 7 (narnn 72 - S; 'n 1a% — W) — offer at SW corner at point with 53
2 Dissent (8”): by bringing on S side, fulfill both desiderata - he holds entire nam was in north
(a) Note: based on his principle — if two phrases contradict, choose one that doesn’t negate other
ii  note: it was valid anywhere, but that’s where it was done
1 meaning: np*on is valid anywhere, but this corner is the place for nxktn
2 Support: Ra - nRtn is valid anywhere(?), nrrn without n¥n is valid, as long as wain o7 is placed below vin
(a) Meaning: np>n and "¥'n at any spot around the narn is valid, because nxrn w/o "¥n is valid
b SE corner: was used for 3 procedures below (standing on nax1) and 3 above (standing on 1110)
i Below: :yn nron, presenting mmn to nam ("nwan”) (per v. 7) and pouring out 010 »W (per v. 8)
ii  Above: wine and water libations (77921) and 9n n%w if the SE corner was overly busy with 9iyn my
1 Reason for 91y nswon SE corner: nearest to 19710 n’a (on E side of wa2)
(a) nr 71 note how strong N3 were; they could throw (very light) feathers etc. 30 nnk (over w12)
(i) Support: for location from description in 81y 970 (“tho more than 31 mnyR, doesn’t count »23 mpn)
II ’» nwn: all ascend the w2, turn right and circumnavigate except for these three (93n n%» wnn 170 7o7)
a  In these cases: they go up, turn left (to SW corner) and retrace their steps back down
i Reason: 0201 - so they don’t get smokey; 9n n%y — so it doesn’t die from smoke
ii ~ Challenge: description in x:1 Tnn has 103 circumnavigating until he is given 1» for 71071 in SW corner
1 Answer (72111 ”3): he walks around and they give him the wine there (language of nywn supports this)
b ar»ixall ascend to R, then to L; to E then come down in W — except these 3, who go up and down R and W
i Challenge: they go up to L!
ii ~ Answer: either should read “L”, or else is “R” of nan (challenge: should be consistent — nam’s POV or 1n3’s — R'wp)
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